ol FEDERAL SIGNAL CORPORATION Night-Fighter®
‘ Fmergency Products FL3TK MOUNTING KIT

[-20-UNEF-2A THREAD
MATES WITH THREADS ON BASE
OF SWITCH HOUSING (8546 D109)

TELESCOPIC
MOUNTING KIT

FL3TK-I

290C/9538
Night-Fighter® Mounting Kit
PPL 0201 Model FL3TK-1 Printed 1999
PARTS LIST
Item
No. Description Part No. Qty.
1 Tube and Grip Assembly (48" long) Z8546A119A 1
2 Tube and Base Assembly Z8546A085A 1
3 Bracket, Retaining Z8546A080A 1
4 Knob Assembly Z8546A088A 1
5 10-32 Screw, Slotted Rd. Hd. Z7000A070-06 1
6 #10 Lockwasher, Int. Tth. Z7075A072 1
7 8-32 Screw, Phl. Pan Hd. Z7011A060-06 1
8 1/4-20 Screw, Hex Hd. Z7000A311-08 4
9 1/4 Lockwasher, Int. Tth. Z7075A067 4
DO NOT ORDER PARTS BY ITEM NUMBER. Federal Signal Corporation
Give model, description and part number. 2645 Federal Signal Drive
When a part number is not supplied, the part is NOT available. University Park, IL 60466

Refer to PARTS PRICE LIST (Part No. 1001) for prices of parts.

Printed in U.S.A.

5-9



